Reasoning and Problem Solving

Tommy says,

Do you agree?
Explain your answer.

It is not possible to

make 999 by

multiplying two 2-digit

numbers.

Children may use
a trial and error
approach during
which they'll
further develop
their multiplication
skills.

hey will find that
lammy is wrong
because 2/ X 3/
s equal to 999

Amir has multiplied 47 by 36 Alex is correct.
Amir has forgotten
4 7 touse zero as a
o5 place holder when
Q X 3 6 multiplying by 3
tens.
2|8 2
1 “ 1
3 2 3
Alex says,

T Amir is wrong because
ﬂ the answer should be
1,692 not 323

Who is correct?
What mistake has been made?




